
At the October 15, 2012 Route 2/102 workshop meeting, the project team had the audience participate in a 
keypad polling survey.  There were approximately 23 people that participated in the survey, of those that 
participated, approximately 15 were residents of the area around the intersection, some residents from the 
larger surrounding area and town, and the remainder of the participants were members of the stakeholder 
group.  Keypad polling is an instantaneous preference survey, that allows participants to view an image or 
question, with a number of possible choices.  Participants use a remote survey pad (similar to a remote control) 
to choose from a multiple choice question, and the keypad polling program instantaneously receives and sorts 
the choices posted for each image or survey question.  Attached to the link below are the slides and questions 
asked with the percentage of answers given for each question.   
 



I understand how the 
suitability of the area 
for development was 
determined.  

1 2 3 4 5

0%

14%
10%

19%

57%
1. Not at all. 
2. I’m confused. 
3. Somewhat, but I still have questions. 
4. Yes, and I trust the team’s analysis. 
5. Yes, and I could present it myself. 



Bike paths and 
additional landscaping 
along Rt. 2 and 102 are 
a good idea. 

1 2 3 4 5

5%
0%

50%

27%

18%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



The option which I think is the best fit for the area is: 

1 2 3 4

70%

0%
5%

25%

1 2 3 4 

1. Conservation 
Development 

2. Mixed-use Village 
(residential focus) 

3. Village (commercial Focus) 

4. Build-out 



This is a good fit for the character of the area 

1 2 3 4 5

77%

9% 9%

0%
5%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

43%

10% 10%

19%19%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

78%

13%

4%
0%

4%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

17%

26%

9%

30%

17%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

52%

19%

5%

14%
10%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

5%

30%

40%

15%

10%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

33% 33%

0%

19%

14%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 
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14%

27%

9%

18%

32%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 
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82%

5%
0%

5%
9%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

36%

14%

5%

18%

27%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

23% 23%

0%

41%

14%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

68%

18%

0%
5%

9%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 
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14% 14%

0%

55%

18%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

48%

19%

5%

19%

10%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 
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5% 5%
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1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5
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1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

30%

22%

0%

26%

22%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 
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26%

4% 4%

26%

39%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 
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15%
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1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 
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1. Strongly Disagree 
2. Disagree 
3. Neutral 
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5. Strongly Agree 



This is a good fit for the character of the area 
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73%

9%
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9%9%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



This is a good fit for the character of the area 

1 2 3 4 5

25%

30%

0%

30%

15%

1. Strongly Disagree 
2. Disagree 
3. Neutral 
4. Agree 
5. Strongly Agree 



Do we want development to 
preserve the golf course? 

1 2 3

74%

26%

0%

1. Yes 
2. No 
3. Don’t Care 



Do we want bike path connections 
from this area to other places? 

1 2 3

71%

29%

0%

1. Yes 
2. No 
3. Don’t Care 



Which bike path connection is your 
highest priority? 

1 2 3

47% 47%

7%

1. East 
2. West 
3. South 



Would you support additional r 
were residential units if they 

bedroom limited? 

1 2 3

36%

14%

50%1. Yes 
2. No 
3. Don’t Care 



Would you support more residential 
units if the housing is age-

restricted? 

1 2 3

55%

9%

36%

1. Yes 
2. No 
3. Don’t Care 



What is the appropriate height for 
commercial buildings? 

1 2 3 4

59%

5%
0%

36%

1. One Floor 
2. Two Floors 
3. Three Floors 
4. Four Fours 



For any commercial space, the 
maximum size (in square feet) of a 

single building should be: 

1 2 3 4

70%

5%5%

20%

1. 5,000 s.f. (Oatleys) 
2. 15,000 s.f. (pharmacy) 
3. 30,000 s.f. 
4. 45,000 s.f. (Stop & 

Shop) 



Which housing types are 
appropriate here? 

1 2 3

50%

14%

36%

1. Single-Family 
2. Single-Family, 

duplex and 
townhomes 

3. Single-Family, 
duplex, townhomes 
and apartments. 



Which commercial types are 
appropriate here? 

1 2 3

70%

30%

0%

1. Local businesses 
2. Franchise/chain 
3. Both local and 

franchise 



Should we allow drive-throughs? 

1 2 3

14% 9%

77%1. Yes 
2. No 
3. Don’t Care 
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